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2.6271/Group 2.6

2.6 5%EM%/Croup 2.6 Noise Curve Table
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The noise level depends on the speed and pressure range;This pressure range is between 10 bar and pressure value P1.

WA v = 32 mYs, 9= 50C.
0il data: V=32mm?/s,8=50TC.

HTNRENRZMEMRTELTHHTAANETE AR, 5 DIV 45635 8 26 ZHEX.

The sound pressure level obtained by calculating the noise value measured from the sound absorption measuring

room meets the requirements of Chapter 26 of DIN 45635.

WEABRERERMBER: 1 X

Distance between measuring sensor and hydraulic pump: 1m.
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